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er (0 [a,b]
o) [a,b] X, X yoeey X

AX =X —X,. A =max|Ax;;
@ & €[Xi,%].
S, = if(g.)Ax._
® I|mS _Ilmzf(f)Ax =S

A—0 i=1

[a,b] & elxqx] , f(x)
[a,b] . I|mS _hlmlzlf(g)Ax =S
f(x) [a,b]

If(a,b):jzf(x)dx:LiLrgSn:s

a,b . T(X) X

Ja f(x)dx =J3 f (t)dt

6.1.2

1 [a,b] . f(x) [ab]
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6 2 [a,b] ( )
w T(x) [aDb]
@ T(x) [aDb]
@ T(x) [aDb]

o [2f(x)dx=—[2f(x)dx
@
VeeR, [2f(X)dx =[Sf(x)dx +[2f(x)dx

J2]Af (X) + Iég (x)Jdx = A2 f (x)dx + B[ g(x)dx
f(x)>0, Vxela,b].

[2f(x)dx =0
f(x), 9(x) F(x)=9(x) .
Ja T (x)dx > g(x)dx
£(x) [a,b] P2 (x)dx > 0

®» f(x) [a,b] . f(x) [a,b]
Jof (x)dx <[ 2 f (x)|dx

@ : f(X) a,p; MZF(X)SM,
mb-a) <[> f(x)dx<M(b-a)
g(x) [a,b]
mfzg(x)dx <2 f(x)g(x)dx < M7 g(x)dx
® : f(x) [a,b] . g(x) [ab]
3¢ (a,b),
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2 F()g(x)dx = f(£)fz9(x)dx

. g(x)=1 . d&e]a,b],
Ja FOdx = f($)(b-a).
L E) (_X;dx =1($) = f[a,b](x)
3¢, € (a,b),
s T(X) [-a,4a] . R F(x)dx=0:;
f(x) [-aa]
2 f(x)dx = 2[3 f (x)dx
o T(X) , T a
Ja F(x)dx =, f(x)dx
10 f(x) [2f(x)dx=0 X, € (a,b)
f(x,)=0
11 f (x) [2f(x)dx=0

Vxela,b], f(x)=0

s1 |, =JgsIn(sinx)dx I, = [zcos(SinX)dx (a.
L <1<], s I, >1>1,
c I, =1, o I, >1,>1.
7T - .
[ XE(O,E) SinX<X  sinx

sin(sin X) < sin X,

www.tsinghuatutor.com -3- 1101 62781785



2005 1006 1101 62781785

|, = [zsin(sin x)dx < Jgsindx =1

COS X cos(sin X) > sin X

|, = jgcos(sin X)dx > Jacosxdx =1> |,
6 2 jgexz‘zxdx

2 _ . 2 — _
gne[oa?z(](x - 2x)_ 0, erg(!g](x 2x) 1
267! = [Petdx < [Pe* 2*dx < [Pedx = 2
6 3 M =1 xIn®(x++/1+x*)dx

X +|X Yx -1

dx P=[ dx
N1+ X2 Ll(l-l— X2)2
®

(A)P<M<N (B)M<N<P
(C)M<P<N (D)N<P<M

N :El

N =2 =241 =2(v/2-1)>0
b =2 =220
=20 122dx<0
1+ x°)
P<M<N
f(x) [a b] CF(x) f(x) [a,b]

C. F(x)=[f(t)dt+C. Vxe[a,b]
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2 f(x)dx=F(b)-C =F(b)- F(a)iF(x)\z

P H(x)dx = £ (b)— f (a)

6 4 I02|X—1|dX
I x=1]dx = [F(L—x)dx + [2(x —1)dx

%) (5]
2 ) 2

6 5 J7/1—sin xdx.
. 71 —sin xdx. = jﬁsin g - cosg

=1

1

dx

= j(;zz(cos5 —sin 5jdx + jjj(sin - cosijdx
2 2 oL 2 2
=42 - 4.

(x—1 x<0
6 6 f(X)=<

x+1 x>0
f(x) [~14] L]

[ f(x)dx

& (x)dx = [0 F (x)dx+£ f (x)dlx
(~1,0],[04] _
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X° 3
LFX)dx =] ——-x| =-=
AT L
X° 1
J},f(x)dx:(+x) =—
2 0
£ £ (X)dX=o
f(x) [-11]
£ f (X)dX=o.
. j;(lJrX)CSSde
-, 14C0Ss” X
= (1+ x) cos X z  COSX
:fgZ 5 dx = 2J,2 ; dx
-5 14C0S” X 14+ cos” X
Py d(smx)d f+1

2 —sin? x fﬁl

I f'(x)dx = f(b)-f(a)
I2 £/ (@(0) - ' (x)dx = f(p(x).,

2 F(x)dx =12 (p(1)- @' (t)dt = F (p(t))|”
f(x) o'(t) x=¢t) t=¢p(x).

a=p(a)b=9(p)
[f(X)dx=F(x)+C
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|, (a,b) =7, f (x)dx

b £ (x)dx = J2 F (x(O)X'(t)dlt
_X-a

b-a

b £ (x)dx = [ F (x(D)X'(t)dlt

t

t=""%(d—c)+c
b—a

1
{t=—X t=—
X
6 8 1_3—dX
dx du
u=-x, [} N :
xT-a4 S Jui -4
u=2sect, du=2tansectdt,
2
u=3t=amam—,u=4t=z,
3 3
[ dx —s du - 2mantsect
_4/)(2_4 3‘/U2—4_ arccos% Ztant
3 cost
=J2 ,——dt
arccos§COS t
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=EJZ 2( 1_ + 1_ )dsint
2 accos \1—sIint  14sint

y =sint

1Iizz 2( 1_ + l_ )dsint
2 accos, \1—sint  1+sint

_EI\@ 1 4 1 dy—lln]iu
2“% 1-y 1+y 2 1-u

V3
2

V5
3

=In(2++/3)=In(83+/5)+1n?2
oo T(x)—cos?x =g f(2x)dx

J¢ f(x)dx

r1 [ f(x)dx=1 2x=u dx==du

: 1 1
4 f(2x)dx_2j02 f(u)du—2I

f(x)—cos? x=J¢ f(2x)dx

T

T T I
a[f (x)—cos? x]dx = 3 ~dx ="
Ja[ f (x)—cos® x]dx f@de .

7 T
| —[gcos’ xdx :ZI
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T
2 4

N |-

T 7
I _ZI = [2 cOS* Xdx =

| = o f(x)dx=—"—
471
6.10 f(x) [0,1] , D
® JoXf(sinx)dx =z, f (sin x)dx,
® JoXf (sinx)dx =27z, f (sinx)dx,

© [oxf(sinx)dx = 2 o T (sinx)dx.,
T

o [EXF (sin X)dx = % 17 £ (sin x)dx

(1 X=x—-t, dx=-dt
[Ixf (sinx)dx =—[2(7z —t) f (sint)dt
=—[ tf (sint)dt + z[; f (sint)dt

6.2

f(x) 9'00 [abl F() f(0 [ab]

2 () g(X)dx = F(x)g(x)[, - 12F (x)g'(x)dx
6 11 fln xdx.

e

- [FInxdx = xInx|1 — [y xd(Inx)

{1 goce?
€ o €
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6 12 [gsin” xdx =[gcos" xdx
J =[gsin"” xdx

x =" —t
2

J =-[2cos"tdt= j¢ cos" xdx
2

| =[gsin" xdx = [zsin"™ xd(—cos x)

= —sin"* xcos x|2 +(n—1)fgsin"? xcos’ xdx

=(n=-D,_,-1,)

I”:nT_ll“ n=2,3,- JO=%, 3, =1
_@n-)it 7z | (2n)tt
S 10} ] | M (2n+n
n=123,---
sinx _ COSX )
» I:IOZe L LI N
8
T 1 T 1
@Ww— 6 - O _— O -

4 15 8 30
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+Ljéx(1—x)”+1dx
n+1

0
1

- X(l— X) n+2
(n+1)(n+2)|,
2(1—x)™° 2

(n+)(n+2)(n+3), (+)(n+2)(n+3)
2 1—-x=t, dx=—dt

2
_|_
(n+1)(n+2)

1

[ex(@—x)"?dx
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Jox*(1— x)"dx

1 2 1
=[t"A-t)°dt = - +
it (d=1) n+1 n+2 n+3
Cf(x) [ab] . Vxe[ab], P f (t)dt

, [+ F(t)dt
F(x)=[2f(t)dt
s @ (X)) [a,b]
F(x)=[2f(t)dt [a,D]
F(x) f(x) [a,b]
o f(x) [ab] ,
F(x)=[2f(t)dt [a,D]

%(;; fdt)=f(x)  Fx) () [ab]

1 Vxela,b], F(Xx)=J,f(t)dt
AF(X) = [ f (t)dt
f(x) [a,b] . t® @b VX €[a,Db],
M>0 [f(x)<M

0 <|AF(x)| <[f™ f (t)dt| < M |AX

imAF(X)=0  F(x)=]f(t)dt

AX—0
[a,b]

www.tsinghuatutor.com -12 - 1101 62781785



2005 1006 1101

62781785

d
@ a;Q;f(Udﬂ

1 1 X+AX (X
= lim = [ f (Ot - 12 F ()t ]

.1
= lim < [+ f ()ct]

— ||m f(f) )>(<+Axdt

Ax—=0  AX

= lim £(£)= 1 (%)
& x X+ AX

e F(X)= [ (t)dt

x* 1< x<
f(x) = e’ 1<x<0,

F (X) :—1,2] [D]

) f(X) . (B
© ®)

Cf(x) [-12]
12 (t)dt

ss 1(X) [a,b] . F(t) = f(t)dt

o f(x) [a,b] . [4 f(t)dt
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d /., .
&(Ixf(t)dt)— f(x)

6.3.2 JE T (t)dt

s T(X) [ab] . a(x), (%) [ab]
e f (Dt

o F(x) [a,b]  a(x),B(x) [a,b]
[P0 £ (t)dt

a(x)

d ( POf (t)dt) = T (B(X))B'(X)— f(a(x))a'(X)

6.3.3

f(x)
o F(X)dx=0 T>0

4
5
6

1 FG0 =1 ()t
sy F(X)=G(x)+C
F'(x)=f(x) C
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G(x)=[ f(t)dt  G(x)
G(—x) =-G(x)
F(x)=G(x)+C F(-x) = f(x)
G(—x)=[,f()d u=-t
G(=x) =15 T (-u)d(-u)
=—Jo T (u)d(u)=-G(x)
618 T (X) T . L7 f(x)dx=] f(x)dx.

f(x) , a
d T+a
d—ja f(x)dx=f(T+a)—f(a)=0
a

L f(x)dx a . a=0,

[ £ (x)dx =T f (x)dx=C.

L f(x)dx = f (x)dx=C a
e fx)dx = f(x)dx+f; f (x)dx+ [ f(x)dx
=) f(x)dx+ 3 f(x)dx+ [ f(x-T)dx

= o f (x)dx
f(x) , f(x)
e T(X) T
1 F(X) ax+Db
2 f(x)

s F(X)dx=0 T>0
L F(x+T) = ()
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F(x)=J; f(t)dt+C
a,beR T g(x).
F(x)=g(x)+ax+b
F(x)=], f(t)dt+ax—ax+C
= (f(t)—a)dt+ax+C
b=C g(x)=[5 (f(t)—a)dt
F(x)=g(x)+ax+b
g(x+T)=9g(x). a,eR
g(x+T)=L"" (f(t)-a)dt
= (f () —a)dt+ [ (f(t)—a)dt
=g(x)+; f(t)dt—aT
[of(t)dt—aT =0

a:%ygf(t)dteR

2 a=0
6.20 f(X)ZIé_COSX sint°dt
x> x°

X)=—+— X—>0 f(x
g(x) =t (x)
g(x)
Q) ®
© ®

(B

en F(X),0() € C[0400) f(X)>0 g(x)
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I T(t)g(t)dt

I f(t)dt
w [0,+00) ® [0,40)
© [O,-I—l) [l,+OO)

® [0+)) [1,400)

@(X) =

f(x)g(x)l f(t)dt—f(x)l f(t)g(t)dt
X f(t)dt]

_ FOR MOl —g®dt _
[ f(®dt] |
@(X) [0,+00) . @
f(x)>0, [a,b]
F(x) = [ f (t)dt+R[f(t)] dt

@'(X) =

[a,b]
. f(x)>0, |a,b] . F(x) [a,b]
(%) = 1
F'(x)=f(X)+ () >0
F(x) [a.b]

F(a) :jg‘%dt <0, F(b)=[f(t)dt>0

. F(x) [a,b]
6.23 d, b, C
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ax —sin x

jb|n(1t+t)dt

=c=#0

[ 1]

3
|mmma:t)m=o b=0

ax — sin X
T In(L+ £
[ dt

i 2008 X X(a — cos x)
a In(1+ x%) x>0 In(1+ x°)
X
. a—CoSX
=lim——
X—0 X

c=0

H

a=1 =c=

e T(X) [O, + OO) f(0)=0 g(x)
Jo g (t)dt =x*e*  f(X)

1 [g%g(u)du = x’e”

X g(f(x))=x
xf'(x) = 2xe* + x°e*, X#0
f'(x)=2e" + xe’
f(x)=(x+De”+C f(0)=0

lim f(x) =1+ C = f (0) C=-1

x—0"
f(x)=(x+1e" -1
6.25 f(X) 1 » 1<x<b

www.tsinghuatutor.com -18- 1101

N | -

62781785



2005 1006 1101 62781785

0<y< f(x) Vb2 +1-42 (X
1 Pf(x)dx=+b*+1-+/2
FE@)dt=~/x*+1-+/2,

X
SR N
6.26 f (X) (—OO,—I—OO)

F(x) = [Xsint—2t)- f(~t)dt  F(x) t a1

6 4

1
2

6.27 iI(;(COS(ZX—t)Zdt =
dx
[ 1 2X —t = U, dt = —du
1 (x) = -] cosu’du = | Zcosu’du
1'(x) =2c0s(2x)* — cos x*
6.1 T (X) f (1) =1
i (2x —t)dt = %arctan X°,

7 f(t)dt
[ ] 2x—u=t,dt:—du
A (2x—-t)dt=[, (2x—u) f (u)du
=2x[ 2 f (u)du — [ >*uf (u)du

1
— ~arctan x°
2
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21 2 f (u)du + 4xf (2x) — 2xf (X)
X
1+ x*

—4xf (2Xx) + xf (x) =

2[ 2 f (u)du = xf (x) +

1+ x*
x=1  f@)=1 jff(t)dt:%

6.28 f (X) (—OO,+OO)
F(x)=[5(x—2t) f(t)dt,
1 T (X) F(x)
2 T (X) F(Xx)
1w f(x)
F(—X)=[,(—=x—=2t) f (t)dt
t=-u, dt=-du
F(—x)=—[j(=x+2u)f(u)du=F(x) F(x)

> F(X)
F(x) =[xz f (t)dt — 21:24F (£)t]
= [ T (t)dt + xf (x) — 2xf (X)
= [, T (t)dt — xf (x)
=X[T(5)— T(X)]
& 0 X
x>0 f(&)-1f(xX)>20,=F'(x)>0
x<0 f()-f(x)<0,=F'(x)=0
x=0 F'(0)=0 (—o0,+0)  F'(x)=>0
F(x)
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6.29 f(x) lim—= F(x) =A
x—0 X
F(x)=[: f(xt)dt F'(x) F'(X)
[ 1] f(X) f(O)ZO
u:xt,dt:d—u,x;tO
X
1.
|:(X):&Of(u)du X0
0 =0

X %0 Puﬁﬁso)jmumm

f(u)d
F/(0) = tim e T W _ i T0O _A
Xx—0 X x—>0 2X 2

””—ﬁmumm,x¢o
X X

F'(x) =

A X=0
2

IlmF(x)_Ilm F(x) I|m—j§f(u)du

x—0 X X—> OX

A A
=A-"=C2F'(0
5= (0)

F'(X) (—o0,+00)

6.30 f (X) g(X) f (X)
ijxx‘”x) Xg(t—x)dt = a
dx
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f T g)dt+ x2 (X)),

s [T g(t)dt—x2f'(x).

¢ o ¥ g(t)dt + xf'(x).
o o' g(t)dt —xf'(x)

[ 1]
1(x) =1 xg(t—x)dt =X/, g(t—x)dt

t—x=u, dt=du
1(x) = X[, " g(u)du
1'(x) = 15" ™ g(u)du +xg (= (X))(~ (X))
=Jo M g(u)du+xg(f(x))(f'(x)
= [ ™ gu)du+ x* f'(X)-w
o lim P AE
e 1+e

0 IX >0 X>X>0

0< Int dt<X|n2X
ST 1+et T 1+4ef

lim 2 Nt

X—>+00 1 +e

dt =

dt=0

t

6 5

6.32 y= f (X) (a,0) (a=0)
VceR,[% f(a—x)dx= o
2[5 f(R2a—x)dX. ®2[°. f(2a— x)dx.
(C)ngf (C— X)dX. (D)O.
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[] o. y=f1(x) (a,0)(@=0)

6.33 [a,b] y = f(x) X=——

i°f (x)dx = 2;22” F (x)dx.

r1[2f(x)dx = jaz f (x)dx+[2, f(x)dx

a+b
2

. a+b
y=f(x) =—
2

a+b f (X)dX I

t—a+b X dx——m
a+b f (a + b X)dX — _J.a+b
2 2

PF )X =2 f (X)X
e T(X)=]X (2—t)edt
[ ] f(X) [0,+o0)
f'(x)=2x(2-x*)e™ =0, x=+/2
0<x<+2 f'(x)>0,
x>+2 f'(xX)<0, x=+/2
f(v2)=[2(2—t)e'dt=1+e"?
lim f(x) =[5 (2-t)e"dt

e e =211
f(0)=0 x=0 ;

f(a+b—x)dx

a+b

f (t)dt :j:;bf(t)dt

6.35 f (X) [a, b] f ’(X)
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jﬁf(x)dxgb

R UCER0)

vx [a,b]
FOO="_[f(@)+ f (0] -2 f (et
F(a)=0. F(x) . F(x)>F(a)=0

F'(x) = —[f(a)+ FOO]+ o F1(x) — £ (%)

—[f(a)— 0]+

_(a=x)
2

=%[f x)-1(0)] S e(ax)
f'(x) . F'(x)=0,

F(x)>F(a)=0

= SN X 7 COS X
6.36 [¢ dXSIOE

1+ x? 1+ x?

S0 - f(x)

f(§)+—f (%)

dx.

[ 1] 1

zSIn X—COSX 4 7SIN X — COS X
| =Jg 2 +[2 dx
1+ X L 1+x°
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7 SIN X — COS X
| =[g >— dx
1+ X

7SN X — X 7 —sint
:Ms czos dx+j04COSt S dt

= [4(sint —cost)[ 12— L

+ 1 7T\ 2
1+(t——
( 2)

2
_(sint - cost)(7z —rt)
=g 4 dt <0

2 7T\2
1+t )(1+(t—2) j

2

7 SIN X — COS X
| =[g - dx
1+ X
7 SIN X — COS X 7SIN X — COS X
| =[4 > dX+], ,—— dX
1+ X 2 14X
1 d
= > ¢ (SIn X —cos x)dx
1+ ¢
+ > [ 2(SIn X—cos x)dx

2 4

7T 7T T
516(011)1§2€(Zs5) l=_—-X

4
2
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1 T .
— 4 (SIn X —cos x)dx
14 & 1+§22)J°4( )

1 1
= ( 2 2
1+ &7 14+&,
oo [(N1+t2dt+ [0, et dt=0 ®

(A)0 @1l (©2 ©3

) = V1+tidt+ 0, e dt
2

I =(

)1-+/2) <0

f(0)=1%"dt<0

f(1)=]sV1+t*dt>0
3Ee(01) f(&)=0

f'(x) =~1+x° +§sin%-em 2 >0

es K>1 f [O,l] (O, 1)
f (1) =k[:xe™f(x)dx =0,
§e(0,)) f(&=W1-&) ()

. f(1) = & (8) 56(0,?
o) =X F () o(x) [&0 (D)
(&) = o(1) = T O)

Eel&)c(0,)
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P& = (&) - & () + & (&) =0
20 (O -&()+(£)=0
£(&) = -7 ()

T
6.39 f(X) [O,E]

jzcos® x-f(x) dx =0,

) f(X) (Q%) 56(0’ %)
£/(£) = 2f (&) tané.
o (X (o,§> £e(0, g) ne, %)

t'(g)=21()tang 1'(n)=T(n)tany
[ 1 I;COSZX-f(X) dx=0 HXOE(O,g)
cos® X, f (X,) =0, cosx, #0,= f(x,)=0

o(x) = cos® xf () (X) [0,%] (o,§>
o(%,) =0, (p(g):o

T T
Fee (%, )<= 0.7)
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9'(£) = ~2sin £cos & (£) + cos” & (£) =0
(&) =2f(&)tan&.

O]

Jgcos® x-f(x) dx =

— ¢ X(—2cos xsinx-f (x) +cos? x- f(x))dx =0

T
56(0’ E)

E(=2cosé&siné - f(&E) +cos &- /(&) =0
ccosé =0,

—2sin&- f(&)—cosé&-1'(£)=0
f'(g)=21(5)tang

[ocos? X-f (X) dx=j§cosx-f (x) dsin x
= —Jgsin x(cosx-f '(x) —sin xf (x))dx

= —(cosn- £'(57) —sinn- f (n))f¢sin x-dx =0
T
URS (01 E)

jgﬁnxdx=1¢0,

coszn- f'(n) —sinp- f(n))=0
f'(n)=f(n)tanp

www.tsinghuatutor.com -28- 1101 62781785



2005

1006 1101 62781785

6.42

1

()= 22 sintdt,

f
f(x) = . f(x)

o F(x+7)= ]2 lsintdt, t=u+z

f(x+

_x”
_Ix 2

)= *"2[sin(u + 7)|du

sinuldu = f(x)

f(x) =
. [sinx (—oo0,+0) f(x) =«

(3

f(x)

= lsin(x + g)‘ —[sin(x)| =[cos(x)| - sin(x),

T 3
— X, =—

— [ sintdt =2

4

j_js%\smt\dt—fsﬁsmtdt j4S|ntdt—2 V2,

0)=gsintdt =1 f(z) = (~sint)dt =1,

22 V2o f(x)

2-2,+/2]
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